
 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 1 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

0 RECORD OF 
REVISIONS 

Rev.No. Affected pages Reason Date 

    

     

1 GENERAL 
INFORMATION 

 

1.1 Affected aircraft   

1.1.1 Type: BRISTELL UL/LSA 

(UL=Ultra-Light Aircraft, LSA=Light Sport Aircraft) 

1.1.2 Model: All models equipped with Rotax 912 iS engine  

and the original one-piece engine mount  

(see Figure 1). 

It does not apply to aircraft with a two-piece engine bed with a 
ring (see Figure 2).  

It also does not apply to aircraft that have already been modified 
as described in this bulletin. 

 

1.1.3 S/N: Not specified, see 1.1.2 Model 

1.1.4 Countries: All countries 

1.2 Reason There have been cases in service where aircraft have been 
operated with the left lower screw holding the Rotax 912 iS 
engine to the engine mount sheared off. 

This was caused by the fan washer under the screw head being 
pressed from the shocks at starting/stopping the Rotax 912 iS 
engine, and the subsequent gradual loosening of the screw joint 
from the vibration leading to the screw shearing off at the head. 
The screw head is prevented from falling out of the engine mount 
by the cotter pin (see Figure 6). 

Because the sheared off screw remained in the joint, the failure 
did not have to be immediately detected during pre-flight 
inspections and the aircraft was operated with this failure. 

1.3 Required action 1. Inspection of the screw joint to check that the lower left 

Allen screw securing the Rotax 912 iS engine to the 

engine mount has not been sheared off. 
2. Replace the screws with new ones with Nord-lock 

washers (replacing the fan washers). 

1.4 Compliance time 1. Check the screw connection IMMEDIATELY or BEFORE the 

next take-off 

2. Replacement of screws +washers at the NEXT periodic 

inspection 

1.5 Mass data Not affected 

1.6 Electrical load data Not affected 

2 DOCUMENTS  

2.1 Superseded 
documents 

NONE 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 2 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

2.2 Revised documents NONE 

2.3 Affected documents NONE 

3 MATERIAL 
INFORMATION 

 

3.1 Required material For replacing screws /washers: 

BRM kit containing (see Figure 7): 

1. Allen screw M10x35 10.9, 3 pcs. 

** Note  Screw M10x110 doesn't have to change 

2. NORD-LOCK NL10 washer, 4 pcs. 
3. Cotter pin 2,5x50 DIN94 ZN, 4 pcs. 

Loctite 243 for securing the screw threads is not included in the 
supplied kit. 

Contact to order kit: BRM Service: vlastimil.ritter@brmaero.com  

3.2 Required tools • Set of common workshop tools. 

For the screws /removal: 

• A support for supporting the engine, or suitable 

workshop jack for hanging the engine (engine hoist). 

• Hand drill + set of drill bits 

• High quality “easy-out” set to remove the damaged  

Screw 

• Penetrating oil (e.g. Aerokroil) 

• thread chase tool (M10x1.5) or a Thread Tap if 

needed(M10x1.5)   

• Screw centering jig or tool 

• Installation kit for Gardsert threaded inserts (M10) in case 
it is necessary to repair a damaged thread in the engine 

case. 

• Engine degreaser to clean threads 

• Compressed air to clean threads 

• Heat gun to heat up the engine case 

3.3 Costs covered by BRM Aero will supply the above kit free of charge. 

BRM Aero does not reimburse labor or any other costs. 

4 ACCOMPLISHMENT 
INSTRUCTIONS 

 

4.1 Type of maintenance Heavy 

4.2 Authorization to 
perform 

As required by the relevant national regulations 

It is recommended that A&P mechanic (airframe and powerplant) 
LSRM-A (light sport repair mechanic) or CAA/FAA repair station. 

4.3 Manpower • approx. 1 hour to inspect the engine mount 

• approx. 3 hours to replace the screws holding the engine to 

the engine mount, if the screw has not been sheared/broken 
• If it is necessary to drill out a broken screw, repair a thread in 

the engine case the time is extended 

mailto:info@brmaero.com
http://www.brmaero.com/
mailto:vlastimil.ritter@brmaero.com


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 3 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

4.4 Work procedure Inspection of the screw joint, 

To check that the lower left hand Allen screw securing the Rotax 

912 iS to the engine mount is not sheared off (see Figure 3) 

1. Remove the engine cowling (upper and lower) 

2. Visually inspect the lower left Allen screw 

The signals indicating the screw is sheared off:  

• Allen screw head seated up to the cotter pin (originally 

there was a gap between the two).  

• Abrasion of the engine mount paint in the area around 

the screw head. 

• Possible damage (e.g. to the engine mount paint) in the 

area of the water pump (including coolant leaks from the 

water pump) due to increased vibration 

• Change - increase of engine vibration when running 

If there is any doubt as to whether or not the screw is sheared 

off, the cotter pin must be removed and the screw tightened 

with an Allen key. If it is turning, the screw has been sheared off. 

WARNING: If the screw is found to be sheared, DO NOT 

CONTINUE OPERATION until the fault is rectified ! 

If the screw has not sheared off, operation may continue until 

the next periodic inspection, at which time the screws must be 

replaced with new ones (thread secured with Loctite 243), 

including installation of Nord-lock washers and new cotter pins. 

 

• Screw Replacement Procedure 

If it is determined that no screw is sheared, then each screw can 

be replaced individually.  Secure engine with an engine hoist to 

prevent engine from shifting or moving. Remove cotter pin from 

engine mounting  Screw holes. Remove and install one M10 

screw at a time using a 8mm hex head socket.  Replace existing 

screw with new.  Replace fan washer with new NL10 Nord-Lock 

washer.  Apply Loctite 243 to threads of screw and thread into 

engine case.  Tighten to proper torque of 40 Nm (353.92 in. lb.)  

Do this for the top and bottom left hand M10 screws.  Repeat 

sequence for the bottom M10 right hand screw. 

***Note:  On occasion it was found that bottom left hand M10 

screw although not sheared off was hard to remove.  In this 

case spray threads with penetrating oil (Aerokroil) and rock 

M10 screw in the threads then out the threads slowly to 

eventually remove.  Chase out hole with 10MM thread chase 

tool (M10x1.5).  Clean out hole with engine degreaser and 

compressed air. 

 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 4 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

***Note: Procedure may require having to move coolant line 

out of the way to gain access to the top left-hand screw.  In 

which case you would have to drain coolant and replenish as 

needed after the repair.  

***NOTE:  When removing left hand top and bottom screws 

make sure if thrust washers (shims) were used in between 

engine mount and engine case that they get reinstalled prior to 

installing new M10 screws.   

***NOTE:  The shim (Thrust Washer as Rotax refers to) is Rotax 

P/N 927954 (THRUST WASHER 10.1/20/1.5 as required) or 

927953 (THRUST WASHER 10.1/20/1.0 as required) or 957952 

(THRUST WASHER 10.1/20/0.5 as required).  These Thrust 

Washer/Shims are only needed as required.  No more than 2 of 

the 927954 should be used to fill in the gap if needed.  That 

would total a 3mm thickness.  The Thrust washers only get 

installed on the left side of the engine.  Cyl 2 and Cyl 4 side.      

Top right-hand screw is a M10x110, and torque should be 

checked and verified.  Remove M10x110 screw and verify if a fan 

washer had been installed instead of the factory Nord-Lock 

washer.  If so then new Nord-Lock washer should be installed.  

M10x110 screw and Nord-Lock washer should then be retorqued 

to a proper torque of 40 Nm (353.92 in. lb.).  After all three M10 

screws and Nord-Lock washers have been replaced and torqued 

and the M10x110 has been torqued insert new cotter pins 

through engine mount  Screw holes.  Remove engine hoist from 

engine. Check the installation. Re-install engine cowlings.  

 

• Repairing the threads in the motor housing (Engine 

Case) 

 

**Note:  It is best practice to do the procedure below before 

you do above “Screw Replacement Procedure”. 

If lower left hand M10 screw has been sheared off then work 

area must be created.  Drain all coolant from engine.  Remove 

water pump housing and all 4 lower coolant hoses from back of 

engine.  Attach engine hoist to engine.  Remove cotter pins from 

all 4 engine mount points.  Remove lower right hand M10 screw.  

Loosen up on top left and right hand M10 screws so that you can 

pivot the engine slightly up to clear the lower left engine mount 

boss. At this point you should have a clear work area to start to 

drill out the sheared off  Screw.   

**Note: Only drill a maximum of 35mm (1 3/8”) from the edge 

of the case deep into the hole bore.  Drilling deeper than that 

depth could potentially penetrate the oil valley of engine and 

future oil leakage through the threads could occur.   

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 5 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

STAY AS STRAIGHT AS POSSIBLE.  DRILL AT LOW SPEED USING 

CUTTING OIL.  TAKE YOUR TIME. 

Start with taking a screw centering jig or tool to make a starting 

hole in the center of the affected screw.  Best to use cobalt, 

titanium or carbide drill bits.  Drill in the center of the affected 

screw using a 2mm (5/64”) drill bit.  Step up to 3mm (1/8”) drill 

bit.  Then 4mm (5/32”)  Then 5mm (13/64”).  Then 6mm (15/64).  

It is recommended to heat up the engine case with a heat gun on 

the outside of the bore hole.  At this point you can start trying to 

use a high quality “easy-out” set to remove the damaged screw. 

Step up size as needed to get the damaged screw out. Chase out 

hole with 10MM thread chase tool (M10x1.5).  Clean out hole 

with engine degreaser and compressed air. 

In the event that you cannot get the damaged screw out only 

drill up to 8.6mm (11/32”) Maximum.  Step up to that that size.   

Chase out hole with 10MM thread chase tool (M10x1.5) or a 

Thread Tap if needed(M10x1.5).  Clean out hole with engine 

degreaser and compressed air. 

**Note: When reinstalling water pump housing use new Rotax 

gasket Rotax  P/N 850-981.   

**Note: In the event the hole is damaged beyond repair; It is 

suggested to use a GARD sert for the thread repair.  A Heli coil 

is not a recommended means of repair.  

https://www.gardspecialists.com/thread-

repair/gardserts/metric/m10-200-product-1521 

Follow directions from Guard Specialists for the proper way of 

installing this thread repair product.  This thread repair product 

is approved by the FAA. 

After the thread repair in case has been completed.  Insert new 

M10 screw with Loctite 243 and NL10 Nord-Lock washer through 

engine mount into Engine Case.  Tighten to proper torque of 40 

Nm (353.92 in. lb.)   

**Note: In the event that a GARD sert cannot be used for 

thread repair the engine must be sent to a Rotax overhaul 

center for the engine case to be replaced.   

mailto:info@brmaero.com
http://www.brmaero.com/
https://www.gardspecialists.com/thread-repair/gardserts/metric/m10-200-product-1521
https://www.gardspecialists.com/thread-repair/gardserts/metric/m10-200-product-1521


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 6 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

4.5 Work inspection Work to be inspected by a qualified A&P mechanic (airframe and 

powerplant) LSRM-A (light sport repair mechanic) or CAA/FAA 

repair station.  Ensure all screws are torqued to the proper torque 

of 40 Nm (353.92 in. lb.) Ensure all cotter pins are inserted in the 

engine mount properly and securely.  In the event the cooling 

system was drained, refill the system with the proper coolant.  

Run up aircraft, check for leaks and proper coolant level before 

first flight after repair.  

4.6 Bulletin compliance 
record 

Record the bulletin execution in the Aircraft Log Book. 

4.7 Feedback In case of need, please contact BRM Aero at: info@brmaero.com  

5 BULLETIN APPROVAL  

5.1 Elaborated by: Petr Javorský, BRM Aero, Certification manager 

5.2 Date of elaboration: 08.02.2024 

5.3 Approved by: Milan Bříštěla, BRM Aero, CEO  

5.4 Date of approval: 08.02.2024  

6 ANNEXES Annex 1 Engine mounts for Rotax 912 iS engine 

Annex 2 Signals indicating sheared off screw in the joint 

Annex 3 Screw replacement procedure photos 

 
  

mailto:info@brmaero.com
http://www.brmaero.com/
mailto:info@brmaero.com


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 7 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

6.1 ANNEX 1 

Engine mounts for Rotax 912 iS engine 

 
Figure 1 Original (one-piece) engine mount for Rotax 912 iS – affected by this bulletin 

 
Figure 2 Two-piece engine mount with ring – NOT affected by the bulletin 

  

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 8 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

6.2 ANNEX 2 

Signals indicating sheared off  Screw in the joint 

 

 
Figure 3 Loose  Screw connection (lower left  Screw)  

between the engine mount and the engine case. 

 

 
Figure 4 Abrasion of the engine case  

with a  Screw broken off inside 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 9 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

 
Figure 5 Damage to the engine mount paint from the water pump pipe  

due to higher engine vibrations (after cutting off the  Screw) 

 
Figure 6  Screw head secured with a cotter pin 

 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 10 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

 
Figure 7 BRM kit 

  

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 11 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

6.3 ANNEX 3 

 Screw replacement procedure photos 

  
IMG-5462: Normal look for screw not broke and tight. IMG-5463: Normal look for screw not broke and tight. 

  
IMG-5464: Engine hoist attached to engine to hold in place IMG-5475: Having to remove ignition coil to gain access to 

top left engine screw and gain access to remove clamp on 
large coolant hose 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 12 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

  
IMG-5476: Having to remove ignition coil to gain access to 
top left engine screw and gain access to remove clamp on 
large coolant hose 

IMG-5477: Having to remove ignition coil to gain access to 
top left engine screw and gain access to remove clamp on 
large coolant hose 

  
IMG-5478: Original 8.8 screw with fan washer showing 
starting signs of fretting.  Zoom in.  

IMG-5479: Hex socket with long extension reaching into top  
screw. Left side. 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 13 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

  
IMG-5480: Torque wrench showing Torque in ft.lb. IMG-5481: Torque wrench showing torque in Nm. 

  
IMG-5482: New 10.9 screw torqued in. IMG-5483: Ball end hex socket used to remove screw. 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 14 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

  
IMG-5484: Ball end hex socket used to remove  Screw with 
long extension. 

IMG-5485: Ball end hex socket used to remove screw. 

 

 

IMG-5486: New 10.9 screw torqued in with green witness 
mark(torque seal) 

IMG-5487: Removal of water pump. 
 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 15 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

 

 
IMG-5488: Removal of water pump. IMG-5506: Ratchet with hex removing screw 

  
IMG-5507: Gap without Rotax shim being used and needs 
to be used. 

IMG-5510:gap without Rotax shim being used and needs to 
be used. 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 16 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

  
IMG-5513: Showing what a clean thread looks like in case, 
lower left  

IMG-5515: Showing 10.9 screw with Nordlock washer and 
loctite243. 

  
IMG-5516: Lower left gap with Rotax Shim being installed. IMG-5518: Top right hand long screw after removing fan 

washer and installing Nordlock washer 

mailto:info@brmaero.com
http://www.brmaero.com/


 

BULLETIN TITLE: ROTAX 912 IS ENGINE 
ATTACHMENT 

CLASSIFICATION: SAFETY DIRECTIVE/ALERT 

Letecká 255 Tel.:+420 773 984 338 BULLETIN NUMBER: ALL-SA-5-0-0-ALL-0001-2024 
686 04 Kunovice info@brmaero.com Date of issue: 08.02.2024 Revision no.: 1st issue Page: 17 

Czech Republic www.brmaero.com  Date of effect: 08.02.2024 Date of rev.: - Pages: 17 
  

Form no: BRM-FORM-BUL-001 Form date of issue: 11.11.2015 Rev.: - Rev.date of issue:  

File name: ALL-SA-5-0-0-ALL-0001-2024 © BRM Aero s.r.o. 

 

  
IMG-5519: Cotter pin being installed  IMG-5520: Cotter pin being installed 

 

mailto:info@brmaero.com
http://www.brmaero.com/

		2024-02-08T17:44:08+0100
	Milan Bříštěla




